
Nájdite obor konvergencie mocninového radu:

1.
∞∑
n=1

nzn
[
K(0, 1) = {z ∈ C; |z| < 1}

]

2.
∞∑
n=1

nnzn
[
konverguje len v strede a = 0

]

3.
∞∑
n=1

n

2n
zn

[
K(0, 2) = {z ∈ C; |z| < 2}

]

4.
∞∑
n=0

z2n

2n
[
K(0,

√
2) = {z ∈ C; |z| <

√
2}
]

5.
∞∑
n=0

(z − 1

5

)n [
K(1, 5) = {z ∈ C; |z − 1| < 5}

]

6.
∞∑
n=0

2 + in

2n
(z + i)n

[
K(−i, 2) = {z ∈ C; |z + i| < 2}

]

7.
∞∑
n=0

(1− 2i)n

(n+ 1)(n+ 3)
(z + 3i)n

[
K(−3i, 1√

5
) = {z ∈ C; |z + 3i| ≤ 1√

5
}
]

8.
∞∑
n=1

n(1 + i)n

(z − 1 + 2i)n

[
CrK(1− 2i,

√
2) = {z ∈ C; |z − 1 + 2i| >

√
2}
]

9.
∞∑
n=1

1

3n2 + 2

(3− 4i

z + 5i

)n [
CrK(−5i, 5) = {z ∈ C; |z + 5i| ≥ 5}

]

10.
∞∑
n=0

(z − 1

5

)n
+

∞∑
n=1

( 2

z − 1

)n [
P (1, 2, 5) = {z ∈ C; 2 < |z − 1| < 5}

]


